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P(AmB)

H(A|B) = P(A), P(A|B) = — A(ANB) = (A|B)P(B) - P(AN B) = (A)P(B)

Cowbi dercvmmpoy [¥) = Z Cn.pyilan, by, )

n,p,i

i MLAimos A

Plan) = 2 |Cn,pvi|2 (C-32)

P,

When we then measure B, the system is no longer in the state |¢) but, if we have found a,, in
the state |1],):

, 1 . e
|1/)n.> - ch.p.i|a7h bpg 'L) (C‘&&)

The probability of obtaining b, when it is known that the first measurement has yielded a,, is

therefore equal to:

1 .
Pa, (bp) = I Z |Cn il (C-34)
Py ‘

The probability P(an, b,) sought corresponds to a “composite event”: to be in a favorable case,

we must first find a, and then, having satisfied this first condition, find b,,. Therefore:

P(an,bp) = P(an) X Pa, (bp) (C-35)

Substituting into this formula expressions (C-32) and (C-34), we obtain:

P(an, bp) - Z |Crt,p,i|2 (0-36)

Moreover, the state of the system becomes, immediately after the second measurement:

) (C-37)

1
|7~r/);':,p> T A~ 2 Z Cn,p,i |a7u
A /Z |en,p.il P
i

Therefore, if we decide to measure either A or B again, we are sure of the result (a, or b,):
[¢, ) is an eigenvector common to A and B with the eigenvalues a,, and b, respectively.

Toarea

P(a71.7 bp) = P(b;n an) = Z |Cn,p$i’2 = Z |(ana bp,i ¢> 2
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